
t33 csspace

(TMH2yRaFpS1vkVRNLjHqZFVQqgvnGzLH8zh)

October 27, 2020

Let v2 struct 0 : ι⇒o be given. Let v13 algstr 0 : ι⇒o be given. Let
v2 rlvect 1 : ι⇒o be given. Let v3 rlvect 1 : ι⇒o be given. Let v4 rlvect 1 :
ι⇒o be given. Let v2 clvect 1 : ι⇒o be given. Let v3 clvect 1 : ι⇒o be given.
Let v4 clvect 1 : ι⇒o be given. Let v5 clvect 1 : ι⇒o be given. Let v2 csspace :
ι⇒o be given. Let l1 csspace : ι⇒o be given. Let m1 subset 1 : ι⇒ι⇒o be
given. Let u1 struct 0 : ι⇒ι be given. Let k12 csspace : ι⇒ι⇒ι⇒ι be given.
Let k5 algstr 0 : ι⇒ι⇒ι⇒ι be given. Let k2 xcmplx 0 : ι⇒ι⇒ι be given. Let
k6 xcmplx 0 : ι⇒ι⇒ι be given. Assume the following.

∀X0.((¬v2 struct 0 X0)∧((v13 algstr 0 X0)∧((v2 rlvect 1
X0)∧((v3 rlvect 1 X0)∧((v4 rlvect 1 X0)∧((v2 clvect 1 X0)∧

((v3 clvect 1 X0)∧((v4 clvect 1 X0)∧((v5 clvect 1 X0)∧((v2 csspace
X0)∧(l1 csspace X0)))))))))))⇒(∀X1.(m1 subset 1 X1 (

u1 struct 0 X0))⇒(∀X2.(m1 subset 1 X2 (u1 struct 0 X0))⇒
(∀X3.(m1 subset 1 X3 (u1 struct 0 X0))⇒(∀X4.(m1 subset 1

X4 (u1 struct 0 X0))⇒(k12 csspace X0 (k5 algstr 0 X0 X1 X2) (k5 algstr 0
X0 X3 X4) = k2 xcmplx 0 (k6 xcmplx 0 (k6 xcmplx 0 (k12 csspace

X0 X1 X3) (k12 csspace X0 X1 X4)) (k12 csspace X0 X2 X3)) (k12 csspace
X0 X2 X4))))))

(1)

Theorem 1

∀X0.((¬v2 struct 0 X0)∧((v13 algstr 0 X0)∧((v2 rlvect 1
X0)∧((v3 rlvect 1 X0)∧((v4 rlvect 1 X0)∧((v2 clvect 1 X0)∧

((v3 clvect 1 X0)∧((v4 clvect 1 X0)∧((v5 clvect 1 X0)∧((v2 csspace
X0)∧(l1 csspace X0)))))))))))⇒(∀X1.(m1 subset 1 X1 (

u1 struct 0 X0))⇒(∀X2.(m1 subset 1 X2 (u1 struct 0 X0))⇒
(k12 csspace X0 (k5 algstr 0 X0 X1 X2) (k5 algstr 0 X0 X1 X2) = k2 xcmplx 0

(k6 xcmplx 0 (k6 xcmplx 0 (k12 csspace X0 X1 X1) (k12 csspace
X0 X1 X2)) (k12 csspace X0 X2 X1)) (k12 csspace X0 X2 X2))))

1


